



Article Drivers of, and Barriers to, the Adoption of Mixed Reality in the Construction Industry of Developing Countries

Ahsen Maqsoom ^{1,}*[®], Muhammad Zulqarnain ¹, Muhammad Irfan ², Fahim Ullah ^{3,}*[®], Fahad K. Alqahtani ^{4,}*[®] and Khurram Iqbal Ahmad Khan ⁵[®]

- ¹ Civil Engineering Department, COMSATS University Islamabad, Wah Cantt 47040, Pakistan
- ² Lecturer, Civil Engineering Department, HITEC University, Taxila 47080, Pakistan
- ³ School of Surveying and Built Environment, University of Southern Queensland, Springfield, QLD 4300, Australia
- ⁴ Department of Civil Engineering, College of Engineering, King Saud University, P.O. Box 800, Riyadh 11421, Saudi Arabia
- ⁵ Department of Construction Engineering and Management, School of Civil and Environmental Engineering, National University of Sciences and Technology (NUST), Islamabad 44000, Pakistan
- * Correspondence: ahsen.maqsoom@ciitwah.edu.pk (A.M.); fahim.ullah@usq.edu.au (F.U.); bfahad@ksu.edu.sa (F.K.A.)

Abstract: Mixed Reality (MR) that combines elements of both augmented reality (AR) and virtual reality (VR) has great potential for use in the construction industry. However, its usage in construction projects in developing countries has not been widely researched. This study aims to examine the major drivers of, and barriers to, the adoption of MR technologies (MRTs) in the construction sector of developing countries. A mixed methodology that included both qualitative and quantitative data analysis was used. The literature review revealed 37 barriers to, and 41 drivers of, MR adoption. A questionnaire was then distributed to 220 randomly selected respondents from the pertinent construction industry, representing all major stakeholders. The relative importance index (RII) was used to rank the barriers and drivers in terms of significance. The results showed that the primary barriers to MR adoption are the high cost of initial investment, public perception of the technology being immature, limited demand, and difficulty accessing relevant experts' knowledge. The key drivers of MR adoption include improved project knowledge, reduced overall project costs, low-cost and realistic training scenarios, reduced damage and development costs, and enhanced user experience. These findings provide insights into the major barriers and drivers of MR in the construction sector of developing countries and will help pertinent companies to focus their research and development (R&D) efforts on overcoming these barriers and promote their adoption to move towards the much sought-after construction automation and digitalization.

Keywords: augmented reality; construction automation; digitalization; mixed reality; virtual reality

1. Introduction and Background

Mixed Reality (MR) technologies, including both augmented reality (AR) and virtual reality (VR), have a significant impact on the automation of the construction and architectural engineering industries in the modern era. MR refers to a blend of physical and digital worlds, unlocking natural and intuitive 3D human, computer, and environmental interactions. The development of MR technologies (MRTs) has rapidly progressed since 2010 [1,2]. These technologies connect the physical world to the digital world and provide a way to access construction project information digitally, leading to digital disruption and the digitalization of the otherwise technology-averse construction industry [3]. These technologies have numerous benefits in the construction industry, including virtual site visits and planning comparisons [4,5]. In addition, MR (AR and VR) help improve communication among stakeholders and offers clear visualization for engineers and designers, leading to a better understanding of ongoing or upcoming projects [1].



Citation: Maqsoom, A.; Zulqarnain, M.; Irfan, M.; Ullah, F.; Alqahtani, F.K.; Khan, K.I.A. Drivers of, and Barriers to, the Adoption of Mixed Reality in the Construction Industry of Developing Countries. *Buildings* 2023, 13, 872. https://doi.org/ 10.3390/buildings13040872

Academic Editor: Annie Guerriero

Received: 21 February 2023 Revised: 13 March 2023 Accepted: 18 March 2023 Published: 27 March 2023



Copyright: © 2023 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). MRTs have been widely adopted across various domains, including education, entertainment, manufacturing, and information technology (IT), due to their accessibility and affordability [6]. The mining industry is one of the sectors that has embraced MRTs. Research has shown that VR solutions can enhance occupational health and safety for coal miners by providing VR training. In a relevant study, workers were trained by experienced professionals using motion capture systems, Head-Mounted Displays (HMDs), joysticks, and working methods. The results indicated that VR technology is a highly effective platform that can protect trainees from exposure to dangers and risks common in the mining environment [7]. Additionally, a VR-based training system has been developed to support the mining industry, and it has been found that the use of devices such as Magic Leap can improve the overall training experience [8].

MRTs have gained significant attention in the healthcare sector due to their remarkable capabilities and innovative approaches. These technologies have seen intensive growth in surgical practices. Recent research has indicated that both clinical and surgical training has been improved and that the usage of MRTs in the healthcare industry will continue to increase [9]. A study conducted between 2005 and 2015 reviewed the usage of MRTs in the healthcare industry and concluded that MR, especially VR, had shown more growth in three areas: eating disorders, cognitive and motor rehabilitation, and pain management [10].

VR can be useful for training and examining healthcare workers by subjecting them to immersive virtual surgery rooms, where they can perform certain procedures without needing expensive real-life facilities and subjects. MR can also enhance the experience of visitors at cultural heritage sites. AR-based mobile applications can be used as tour guides, and VR applications can simulate unapproachable places. These technologies can increase the interest of visitors, provide them with a more immersive experience, and encourage future visits [11].

The use of MR in the gaming sector is also dramatically increasing. Similarly, these advanced technologies play a crucial role in the education sector. A detailed analysis of the usage, benefits, and challenges of MRTs in education history has been presented in a relevant study [12]. Researchers have found that the increasing trend towards online studies and distant learning has led to the use of MRTs [13]. Researchers have developed a teaching system based on AR that shows increased student motivation levels and encourages innovation by enabling them to create design outputs during courses [14]. Additionally, a VR-based tool has been developed that provides an effective solution to the challenges faced by students in visualizing structures [15]. VR has been shown to create an effective education and learning environment and can enhance students' understanding of material [16]. Similarly, other recent studies have shown an increase in students' success rate when exposed to such immersive MRTs [15,16].

VR technology has been shown to assist people in solving difficult problems by allowing them to interact with digital devices [17]. While the primary use of MRTs has been in the entertainment and gaming industries, their adoption has rapidly expanded to sports, education, tourism, and training [18]. According to Goldman Sachs [19], the VR and AR markets are expected to reach a size of \$80 billion by 2025.

In the United Kingdom (UK), data from a report on public goods revealed that MRTs are the primary advanced technologies used to enhance the efficiency of groundwork delivery and preservation, and aid in accountability and risk management. Similarly, in the United States (USA), the government's IT capability enhancement initiatives involve the usage of MR [1]. The emerging Citizen Technology Office (CTO) initiated the MR programs in 2017 to work on experimentation research and the clarification of related programs. Federal agencies in the USA are expecting these technologies to enhance their services in a wide range of applications, including the medical, education, and management areas [1].

In 2017, the Manufacturing Technology Center (MTC) conducted an experimental study to check the maturity and reliability of MR in construction-related companies. The results indicated that only 37% of construction company workers had some knowledge related to MR [20,21]. Davila [20] estimated that only 34.4% of construction companies

in the UK had used these technologies. Additionally, a relevant study [22] found that the digitalization index range for the architecture, engineering, and construction (AEC) industry was the lowest among the 22 investigated industries.

Despite the rapid development of VR, AR, and other supporting MRTs, there have been limited studies offering a systematic inspection of their implementation and adaptation in construction engineering, education, and training [23]. Although VR has been implemented in architecture, engineering, and construction education [24], using an HMD can lead to serious problems, such as discomfort and poor depth perception [25]. While real-world depth cues are reliable, in AR, only a subset of these cues is provided. Additionally, the available depth information given by augmented objects often conflicts with the information given by the real-world environment, resulting in cue conflicts and perceptual unpredictability [26]. However, the obstacles that appear during implementation can be quickly overcome due to the continuous advancement of technology worldwide. The perception that MRTs are new technologies in the market and cannot be fully utilized in practice is incorrect [26].

MR (including both AR and VR) technologies are of great importance to the AEC industry because the built environment is intrinsically connected to 3-dimensional space, and professionals in this industry rely heavily on visual imagery to communicate. AR, in particular, is an essential technology for improving construction projects. While research has been conducted on both AR and VR for many years, interest in these technologies has recently resurged due to the development of more advanced and capable HMDs [27].

VR simulations provide an immersive and interactive environment that can assist architects in planning and designing buildings and cities [28]. They can also help reduce project costs, risks, and delivery time while allowing customers and users to experience the design of a structure before it is built [29]. AR has many useful applications in the construction industry that can significantly enhance construction productivity [30].

Research has helped create a comprehensive map of excavation, positioning, inspection, coordination, and other aspects of the construction process using MRTs. A clear scenario of AR in the AEC industry has been presented, with a review of important research efforts up to 2009 and an organization of various AR technologies with their pros and cons by a relevant study [31].

The adoption of AR in the AEC industry focuses on four main aspects: localization, natural user interface, cloud computing, and mobile devices [32]. However, the use of MR in the AEC area remains low in general [1]. A study conducted in 2017 found that only 37% of construction companies had experience using MR [33]. In another study, researchers compared the long-term effects of VR safety training with traditional methods. They trained one group with VR and the other with traditional safety methods. The results showed that VR-based training was more effective than traditional methods [34]. Additionally, scientists have developed a platform that uses 360-degree panoramic recorded videos from the real world and integrates them into VR for construction safety training. Results show that the platform improves workers' hazard-assessment skills [12]. Similarly, AR tools are also useful in developing a framework for maintaining gas and oil facilities, ultimately increasing the quality of work [35].

Similarly, research has shown that VR technologies and environments are beneficial for construction and safety training. They can help with project schedule control [36], promote better understanding among stakeholders [37], provide clear views of complex designs [38], and help trace faults and design errors [39]. These technologies can also help users create a sense of the project and target a suitable design area, even with complex structures [40], and facilitate mutual decision-making [41]. A cost estimation framework for construction using VR technology has been developed, which uses a real-time virtual reality model that allows clients and users to change the materials of floors, walls, and other parts of the structure and see the price impact in real-time [42]. This could be highly beneficial to estimators in the AEC industry [43]. Overall, adopting MRTs has played a crucial role in the construction industry, providing training programs that can help workers improve

their regular activities. Traditional methods, such as simple computer-based learning, have not been effective in equipping decision-makers to interact with specific situations. In addition, on-site training for significant production value tasks, such as oil and gas plant maintenance, is often challenging because the site's conditions are not revealed until the project starts.

Therefore, the current research aims to study MR adoption in developing nations by analyzing its benefits and barriers and capitalizing on its potential to help developing nations catch up with developed ones. Historically, technological achievements in developing nations have lagged behind those in developed nations. However, MR technology (a nascent concept) can aid in closing the gap by expanding access to digital infrastructure and sectors, including construction and other connected industries. Furthermore, MR can assist developing nations in building a digital infrastructure that will be the cornerstone of their economic growth. The pertinent infrastructure could benefit from the introduction of MR technology by modernizing existing industries and fostering the development of new ones in developing countries. Therefore, investment in MR technology offers a special chance to support the expansion and development of the construction sector in developing nations. However, there is a limited number of published studies on MR adoption in the context of the construction industry for developing economies which presents a gap in research.

To bridge this research gap, the current study highlights the key barriers and drivers for MR adoption in developing countries. It is important to identify the barriers and drivers of MR adoption in developing economies' construction industry to move towards a more globally smart construction industry. It must be noted that MRTs in this study are limited to AR and VR only, and other supportive MRTs are not considered in this study. In this context, the use of the relative importance index (RII) technique is a good way to quantify and rank the relevant factors. It is encouraging to see that reduced project expense and knowledge are key drivers for MR adoption, which can help the construction industry of developing countries achieve better outcomes with less cost and time. The findings of this study can provide valuable insights for decision-makers in the relevant construction industry to adopt the latest tools and technologies and improve their overall efficiency and productivity.

2. Tools and Methods

Exploratory and mixed research methods are commonly used to investigate complex systems and associated phenomena. They allow for the collection and analysis of both qualitative and quantitative data [1]. In the case of MR adoption in the construction industry, these methods are useful for exploring the perceptions and opinions of key stakeholders and identifying the influential factors. By combining qualitative and quantitative data analysis, researchers can gain a deeper understanding of the factors that contribute to the barriers to, and drivers of, MR adoption and provide valuable insights for decision-makers in the construction industry of developing countries. Accordingly, qualitative and quantitative data analysis techniques have been used in this study.

The initial stage of qualitative data analysis in this study involved identifying the barriers to the adoption of MR in construction projects by reviewing previous research papers. After gathering all relevant data, the barriers and drivers were analyzed to filter out those that pertained specifically to the construction industry and its projects. A total of thirty-seven barriers associated with the adoption of MR in construction projects were extracted from articles published worldwide. Table 1 shows the list of extracted barriers to MR adoption.

Similarly, published research articles were consulted to collect data on the drivers related to the adoption of MR in the construction industry. Forty-one drivers were extracted, which were specifically linked to construction projects. The list of drivers in the adoption of MR is presented in Table 2.

Sr. No.	Barriers	References
1	MRTs are considered immature technologies	[1,33,44,45]
2	The limited size of 3D models to be displayed	[1,46,47]
3	Uncomfortable and heavy HMDs available for MR	[1,46]
4	Narrow field of view	[1,46]
5	Low-resolution displays are available for MRTs	[1,46]
6	Power and battery limitations for using MRTs	[1,46]
7	There are skill shortages and difficulty to access skilled graduates	[1,44,46,47]
8	There is a lack of market knowledge regarding MR	[1]
9	Issues are there with data security and ownership using MR	[1,45]
10	MR has branding problems and inaccurate public perceptions	[1]
11	There is a lack of time to explore immersive technologies	[1]
12	There is difficulty to assess and access experts' knowledge	[1,46]
13	MRTs are seen as a cause of job insecurity	[1,47]
14	There is limited access to finance	[1,33]
15	There is an aversion to adopting new technologies	[1,33,47]
16	Special requirements are to be provided for implementation	[1]
17	There is a lack of standards for data exchange	[1,46]
18	There are expensive hardware and training requirements	[1,33]
19	MRTs require specialized high-processing equipment	[1,46,47]
20	Large space is required for MR gadgets	[1]
21	There is a lack of multi-user capabilities for using MR	[1]
22	MRTs remains a fragmented industry	[1,44,45]
23	There is a lack of client interest in using MR	[1,47]
24	MRTs sample may not be representative of the wider population	[1]
25	User experience motion sickness, nausea, sweating, and headaches leading to vomiting	[46,48]
26	High initial capital investment is required for the MR	[44]
27	There is a problem in correctly setting up the system	[33]
28	The demand for MR is insufficient	[44]
29	A significant modeling effort may be required and should be taken into consideration when building an MR application	[47]
30	There are difficulties in translating changes to BIM models	[46]
31	MRTs have low accuracy in tracking and mapping	[46,47]
32	There are social concerns of people regarding the adoption of MR	[47]
33	There is insufficient demand for MR adoption	[44]
34	These technologies lack systemized evaluation processes	[46]
35	MRTs require high initial capital investment	[44]
36	MRTs have time-consuming algorithms	[45,46]
37	There is limited opportunity to experience real working conditions	[46,47]

Table 1. Barriers to MR adoption in construction projects.

Sr. No.	Drivers in the Adoption of MR in Construction Projects	References
1	MRTs reduce overall spending on the projects	[1,45,47,49]
2	It will help to increase labor productivity in projects	[1,33,47,49]
3	MRTs contribute to better project delivery	[1,33]
4	Having difficulties accessing labor will drive MR adoption	[1]
5	MRTs improve collaboration between parties	[1,49]
6	MRTs improve project understanding	[1]
7	Government incentives will drive its adoption	[1]
8	A decrease in the construction Budget will drive its adoption	[1]
9	MRTs help to improve the company's image and will drive its adoption	[1]
10	MRTs should be part of the trend for better adoption	[1]
11	MRTs help in obtaining a differentiating advantage in the market	[1]
12	MRTs help in making strategic decisions from top management	[1]
13	MRTs help in improving the reputation of the organization	[1]
14	Client requirements for the use of MR in projects	[1]
15	MRTs show a way to provide new and better services	[1]
16	MRTs help in improving the organizations' work culture	[1]
17	MRTs help in enabling market expansion	[1]
18	MRTs are an organizational need to be more efficient and productive	[1]
19	MRTs reduce overall risk	[1,33,47]
20	MRTs help in fostering the research curiosity of the employees	[1,45,49]
21	MRTs help in increasing research and development investment in the construction sector	[1]
22	MRTs are reliable technologies	[33,49]
23	MRTs provide timely feedback	[46,49]
24	MRTs help in better requirement understanding	[46,49]
25	MRTs help in better contextual understanding	[46]
26	MRTs help in better impact assessments	[46]
27	MRTs help in increasing inclusivity	[46]
28	MRTs help in improving user experience	[46]
29	MRTs help in real-scale visualization of design	[45,46,48]
30	MRTs help in better understanding of design impacts	[46]
31	An easier understanding of simulation results is provided using MR	[45,46,48]
32	MRTs help in efficient decision making	[46]
33	Easier multidisciplinary assessments are provided	[46]
34	MRTs help in the visual understanding of construction progress	[46]
35	MRTs provide a visual analysis of the ongoing project	[46,48]
36	MRTs minimize travel	[46]
37	MRTs help in reducing the risk to the technicians	[46-48]
38	MRTs help in the better understanding of facility needs	[46]
39	MRTs provide visual asset information in real-time	[46]
40	MRTs provide inexpensive and more effective training scenarios	[46]
41	MRTs help in reducing damage, repair, and development cost	[45]

Table 2. Drivers of MR adoption.

2.1. Data Collection

A comprehensive questionnaire was developed for quantitative data collection that included three sections. The first section of the questionnaire asked respondents to provide information about their age, experience, company, company's business, designation, education, and employment status. The second section of the questionnaire comprised the barriers to adopting MR in the construction industry, while the third section focused on the drivers for adopting MR in the construction industry.

Based on the extensive review of the published literature and data analysis, 37 barriers and 41 driving factors for the adoption of MR in construction projects were identified, as previously listed in Tables 1 and 2. The purpose of the questionnaire was to validate and quantify both sets of factors. The questionnaire used a ranking scale from 1 to 5 to code the responses of the participants, with rank 1 indicating the lowest importance (strongly disagree) and rank 5 indicating the highest importance (strongly agree). Respondents were asked to assign an importance value to each of the barriers and drivers.

The study utilized a representative sample of the construction industry population. Experts from engineering consultancies, design firms, construction companies, and technology development companies with a focus on MR were invited to participate in the survey. The respondents were selected from contractors, clients and authorized construction consultants involved in contract awarding activity. A total of 220 questionnaires were randomly distributed among the participants, including consultants, contractors, and clients. However, only 124 fully completed questionnaires were included in the final analysis, and incomplete questionnaires were discarded.

2.2. Assessment of Participant Profile

To ensure the data's validity, the questionnaires included information about the participants' profiles, such as their age group, experience level, company type, education level, and employment status. The age range of the participants in the data collection ranged from less than 20 to 41 years. The experience levels of the participants ranged from less than a year to 20 years. The educational levels of the participants ranged from Matriculation to Ph.D. The employment status field in the questionnaire included permanent, contractual, and temporary terms of employment.

3. Results

3.1. Respondents' Demographics

After the data collection process, 124 questionnaires were accepted for further analysis. To exclude incomplete responses, a pattern of similar responses in answering most of the questions was checked. Additionally, the data of five randomly chosen sub-criteria were analyzed for their accuracy. If a respondent's answer for all five sub-criteria was significantly different from most other respondents' answers, their response was removed.

The response data were recorded and processed using Microsoft Excel. The age group data showed that 4 percent of the respondents were between the ages of 20 and 25, while 44 percent were between the ages of 26 and 30. Among the respondents, 28 percent and 22 percent were between the ages of 31–35 and 36–40, respectively.

Regarding the respondents' company profiles, 61 percent of those who responded were contractors, and the client category was the second most populous, accounting for 32 percent of all individuals, whereas 7 percent of respondents selected the consultant category as shown in Figure 1.



Figure 1. Respondent's affiliation.

The study also analyzed the educational level of the respondents. The findings indicated that 82 percent of the participants had completed a bachelor's degree, while master's degrees were the second most common level of education. Only 3% and 2% of the respondents reported having completed an M. Phil. and Intermediate education, respectively. In terms of employment status, 48 percent of the participants held permanent positions, while 37% and 15% were employed on a contractual or temporary basis, respectively.

3.2. Relative Importance Index (RII)

As discussed previously, RII scores were calculated for the drivers and barriers. The first category for which RII was calculated was financial stability. According to Johnson and LeBreton [50], RII is a useful tool for determining the contributions of specific variables to an overall system or phenomenon. To experimentally determine the characteristics that contribute to the implementation and preference of selecting a particular contractor and bid evaluation, RII was used, and was derived using Equation (1). In Equation (1), W represents the weight given to each element by respondents (ranging from 1 to 5), A represents the highest weight (i.e., 5 in the current study), and N represents the total number of respondents. The RII was calculated using Microsoft Excel. Equation (2) shows the calculations for L26 as a sample input. All subsequent calculations were conducted in a similar way.

$$RII = \frac{\Sigma W}{A \times N}$$
(1)

RII for L26 =
$$\frac{545}{124 \times 5} = 0.879$$
 (2)

The corresponding values are presented in Table 3, where L represents the serial number of the MR barrier previously listed in Table 1.

In addition to calculating the RII for MR barriers, the study also calculated the relative importance values for MR drivers in the construction industry, which are shown in Table 4. These values were obtained by inserting the given values into the RII formula, as shown in Equation (1).

According to the RII data presented in Table 5, barrier L26 obtained the highest ranking with an RII of 0.879. In the top 5, barriers L1, L33, L12, and L28 were also present with RIIs of 0.866, 0.853, 0.847, and 0.845, respectively.

The top five drivers related to the adoption of MR in the construction industry, as shown in Table 6, are D6, D1, D40, D41, and D28, with RII values of 0.911, 0.892, 0.881, 0.879, and 0.873, respectively.

Rank	L	ΣW	AxN	RII	
1	L26	545	620	0.879	
2	L1	537	620	0.866	
3	L33	529	620	0.853	
4	L12	525	620	0.847	
5	L25	524	620	0.845	
6	L18	517	620	0.834	
7	L35	512	620	0.826	
8	L22	509	620	0.821	
9	L23	506	620	0.816	
10	L15	504	620	0.813	
11	L20	498	620	0.803	
12	L21	497	620	0.802	
13	L29	495	620	0.798	
14	L28	490	620	0.790	
15	L30	486	620	0.784	
16	L10	479	620	0.773	
17	L16	475	620	0.766	
18	L14	468	620	0.755	
19	L8	466	620	0.752	
20	L7	462	620	0.745	
21	L36	458	620	0.739	
22	L24	448	620	0.723	
23	L32	447	620	0.721	
24	L19	443	620	0.715	
25	L6	425	620	0.685	
26	L5	420	620	0.677	
27	L27	411	620	0.663	
28	L3	408	620	0.658	
29	L11	406	620	0.655	
30	L2	398	620	0.642	
31	L13	393	620	0.634	
32	L9	390	620	0.629	
33	L4	383	620	0.618	
34	L17	371	620	0.598	
35	L37	364	620	0.587	
36	L34	359	620	0.579	
37	L31	343	620	0.553	

 Table 3. Relative importance index for barriers.

 Table 4. Relative importance index of drivers.

Rank	Drivers	ΣW	AxN	RII
1	D6	D6 565		0.911
2	D1	553	620	0.892
3	D40	546	620	0.881
4	D41	545	620	0.879
5	D28	541	620	0.873
6	D15	539	620	0.869
7	D3	538	620	0.868
8	D26	533	620	0.860
9	D18	523	620	0.844
10	D16	520	620	0.839

Rank	Drivers	ΣW	AxN	RII
11	D36	515	620	0.831
12	D11	513	620	0.827
13	D9	510	620	0.823
14	D19	508	620	0.819
15	D2	507	620	0.818
16	D5	497	620	0.802
17	D34	492	620	0.794
18	D13	491	620	0.792
19	D30	488	620	0.787
20	D8	485	620	0.782
21	D32	481	620	0.776
22	D33	477	620	0.769
23	D24	475	620	0.766
24	D20	470	620	0.758
25	D38	467	620	0.753
26	D4	460	620	0.742
27	D37	459	620	0.740
28	D10	458	620	0.739
29	D25	457	620	0.737
30	D39	450	620	0.726
31	D12	445	620	0.718
32	D27	443	620	0.715
33	D35	438	620	0.706
34	D17	433	620	0.698
35	D21	424	620	0.684
36	D29	409	620	0.660
37	D14	380	620	0.613
38	D22	371	620	0.598
39	D31	352	620	0.568
40	D23	347	620	0.560
41	D7	325	620	0.524

Table 4. Cont.

Table 5. Top 5 barriers as per RII.

Barriers	SA	Α	Ν	D	SD	ΣW	AxN	RII	Rank
L26	69	39	12	4	0	545	620	0.879	1
L1	72	27	20	4	1	537	620	0.866	2
L33	58	48	13	3	2	529	620	0.853	3
L12	64	37	15	4	4	525	620	0.847	4
L28	57	47	14	37	15	524	620	0.845	5

Drivers	SA	Α	Ν	D	SD	ΣW	AxN	RII	Rank
D6	63	56	4	0	1	565	620	0.911	1
D1	79	29	12	2	2	553	620	0.892	2
D40	65	45	13	1	0	546	620	0.881	3
D41	69	41	10	2	2	545	620	0.879	4
D28	66	43	10	4	1	541	620	0.873	5

Table 6. Top 5 drivers as per RII.

4. Discussion

This section discusses the top 5 barriers to and drivers of the adoption of MR in the construction industry of developing countries.

4.1. Significant Barriers to MR Adoption

The top 5 barriers to MR adoption, as presented in Table 5, are discussed below.

4.1.1. High Initial Capital Investment Is Required for the Use of MR

Since construction projects are typically large in scale, there is a perception that implementation of MR technology would necessitate a substantial number of high-cost devices such as HMDs and other related equipment. As a result, a considerable amount of initial investment would be necessary to integrate MR technology into a construction project, which would increase the overall project cost. To address this challenge, it is essential to direct research and development (R&D) efforts toward developing low-cost devices and technologies that meet the unique needs of the AEC industries, in keeping with the limited finances available in developing countries. Given the significant investments required to implement MR in terms of equipment, space, time, and upskilling, the investments can only be justified by designing MR hardware and software specifically tailored to developing countries' AEC sectors.

Another issue generally associated with MR devices is that of battery limitations and lower efficiency in darker places. It is crucial to increase the efficiency and battery life of these devices to make them more practical and convenient for construction site use. These are essential factors that were also highlighted in a study by Delgado et al. [1], where the high cost and perceived immaturity of MRTs were identified as major barriers to their adoption in the AEC industry. The current study complements these findings. Accordingly, further research is necessary to address these challenges and develop tailored solutions that cater to the unique requirements of the AEC industry in developing countries.

4.1.2. MRTs Are Considered Immature Technologies

MRTs are in nascency in the construction industry of developing countries, and they are sometimes considered immature technology. Construction projects demand a higher degree of precision, consistency, and efficacy. However, current MR (including both VR and AR) devices are unable to manage the extremely sophisticated 3D information models routinely used in construction projects. Most MR devices were originally designed for the entertainment industry, and as a result, they lack the capabilities necessary for the AEC industries. Additionally, due to a lack of technical skills, awareness, and the complexity of the technology, MR adoption in these industries is not straightforward and requires further adoption efforts, awareness, and modifications to devices.

The existing MR devices need to be customized to suit the specific needs of the construction industry in developing countries. They should be improved to handle large-scale data processing while also providing sustainable battery backup and system memory. By doing so, it will be possible to address the perception regarding MR's immaturity in the construction sector. Customized MR devices will offer the high precision, consistency, and efficiency that is required in construction projects, making them more attractive to the industry. This can be achieved through continuous R&D to identify the specific capabilities lacking in existing MR devices and address them to make them more suitable for the AEC industry of developing countries. These results align with the studies by Delgado et al. [1,44], which concluded that AR technology is not yet fully matured and not considered mainstream (at least not as mature as VR), but that the efforts made by developers are headed in the right direction. Similarly, the authors also found that the primary obstacle to adopting MR in construction is the belief that they are immature technologies that cannot be fully utilized in practice yet.

4.1.3. There Is Insufficient Demand for MR Adoption

The construction industry typically follows established standard operating procedures (SOPs). The adoption of new technologies such as MR may face significant barriers in developing countries due to a lack of awareness, technical skills, knowledge, and other obstacles. As a result, the demand for MR in the construction sector is currently low. However, as the technology continues to develop and tailored solutions are created for the specific needs of the construction industry, it is expected that the adoption will increase.

To facilitate adoption, awareness campaigns should be initiated to promote the advantages of MR technology in construction, such as improving project understanding, cost efficiency, and effective training. Additionally, educational institutions can play a vital role in attracting new talent to the field by offering programs that provide specialized training in MR. Further, companies providing MR services and solutions should provide professional training to construction industry employees on the best use of this technology. By increasing the awareness and knowledge of MR, the construction industry can be encouraged to adopt these technologies, which can lead to improved efficiency and cost-effectiveness in construction projects.

There is currently a low demand for MR in the construction industry due to a lack of understanding of its benefits. As a result, construction companies may find it challenging to switch from established practices to new technology, as it would require a significant capital investment. Additionally, due to a shortage of professionals trained in this technology, there may be a lack of experts' availability that discourages construction organizations from adopting these technologies.

The findings of Martínez et al. [45] support the need to improve the integration of new technology into social practices. The researchers found that many people are not yet familiar with MR technology, contributing to its low demand. By promoting the advantages of MR and providing education and training opportunities, the construction industry can work towards increasing the adoption of this technology and realizing its full potential.

4.1.4. Difficulty in Assessing and Accessing Experts' Knowledge

Limited numbers of people are pursuing careers in MR because the technology is still young, difficult to adopt, and lacks implementation standards. The lack of standards makes it hard to measure the knowledge and abilities of those working in MRTs. Furthermore, due to the lower number of experts in this field, it is challenging to assess their knowledge about the technology and engage them meaningfully in construction projects involving huge finances.

To address this issue, major universities in developing countries should launch higher education programs targeted at MRTs. This would give a boost to R&D efforts and improve the technology itself. MR companies should also sponsor R&D efforts in universities to facilitate this. This conclusion aligns with Delgado et al.'s [1,46] findings, which indicated that the construction industry is still in its early stages compared to the entertainment sector. MR expertise is difficult to attract for construction organizations, as professionals tend to prefer the entertainment and gaming industries. There is a lack of graduates with the necessary skills, and only large corporations have dedicated MR development teams to date [1].

4.1.5. User Experience Motion Sickness, Nausea, Sweating, and Headaches Leading to Vomiting

The prolonged use of MR devices such as HMDs can cause motion sickness, nausea, sweating, headaches, and vomiting in users, which is a major limitation in the adoption of MR technology. Due to the complexity and time required for construction projects, prolonged usage of these devices can be uncomfortable for most users.

To mitigate these issues, efforts should be made to improve the design and development of MR devices to minimize discomfort and curb their negative side effects for users. Additionally, providing frequent breaks during prolonged usage and limiting the amount of time spent in the virtual environment can help reduce the incidence of symptoms associated with motion sickness and other discomforts. As noted by Liagkou et al. [48,51], the side effects of VR navigation can be attributed to a mismatch between the user's visual and physical experience, leading to a disconnect in the brain's biochemistry. Addressing these issues will require continued R&D to improve the technology and reduce negative side effects for users.

4.2. Top 5 Drivers for MR Adoption

Table 6 presented the top 5 drivers in the adoption of MR in the construction sector of developing countries. These drivers are discussed below.

4.2.1. MRTs Improve Project Understanding

The adoption of MR technology in the construction industry is driven primarily by the benefits it offers in enhancing project knowledge. With the use of MR, construction projects can be virtually simulated, or real-world settings can be overlaid with digital information, resulting in a deeper understanding and visualization of the project. This provides a zero-risk environment for the project and any issues associated with it can be resolved in a virtual space. As a result, using MRTs allows for the observation of various stages of a project, leading to an improved overall understanding and minimization of project risks.

The current study's findings support the study by Ashtari et al. [52], which indicated that using AR can lead to faster learning, mistake reduction, and significant time savings, in addition to promoting safer operations and reducing operational expenses.

4.2.2. MRTs Reduce Overall Spending on the Projects

MRTs have the potential to reproduce construction projects digitally using the recently introduced digital twin approach. By identifying and rectifying problems in the virtual environment, project designs can be optimized to save costs and reduce the chances of human error. Integrating the real environment with the digital environment makes monitoring project work much easier, allowing for improvements to be made virtually and noticed in real time. As a result, the project can be completed in the best possible manner, leading to better outcomes at a lower cost. These findings are consistent with the research of Liagkou et al. [48,51], who found that VR applications in the industry can decrease design and production costs, maintain product quality, and reduce the time needed to go from product concept to production concept.

4.2.3. MRTs Provide Inexpensive and More Effective Training Scenarios

The use of MRTs in employee training can simulate real-world scenarios, enabling employees to practice their skills in a safe and controlled digital environment. This approach can significantly enhance the quality of training by providing hands-on experience in a real-world setting, leading to a more productive work environment. Additionally, by reducing the time required to learn new skills, training costs can be significantly reduced while simultaneously improving the quality of training. This finding is consistent with the research conducted by Yin et al. [33], who surveyed the current research trends, findings, and limitations of MRTs. They concluded that these technologies hold great promise in enabling more effective training procedures.

4.2.4. MR Helps in Reducing Damage, Repair, and Development Cost

Efficient project progress tracking and comparison can be achieved by creating a virtual environment using MR. This minimizes the risk of damage and associated repairs since the project has already been simulated digitally. Moreover, utilizing MR can lead to the discovery of the most efficient approach to execute the project, which results in reduced development costs. Therefore, the integration of MR in the construction industry can lead to decreased project risks and development costs. These findings align with the conclusions of Martínez et al. [45], who found that AR can contribute to cost reduction in various ways, including reducing costs in industrial processes, decreasing errors, and improving safety measures.

4.2.5. MRTs Help in Improving User Experiences

MRTs offer a unique and immersive experience to users, unlike any other technology. These technologies have the potential to significantly transform how we interact with our surroundings. In MRTs, the user does not need to issue commands since the device responds to the user's environment and interprets their gestures and actions in real-time. MRTs provide us with a new world of possibilities, allowing us to interact with inanimate objects, feel more connected to people and our environment, and envision things exactly as we want them to be. These technologies also have immense potential in the healthcare, manufacturing, and media industries. This conclusion is supported by the findings of Yin et al. [53], who found that MR's immersive experience allows workers to simulate careless or erroneous actions and their resulting consequences, thereby enhancing their training and safety procedures.

5. Conclusions

The research aimed to identify the drivers of, and barriers to, adopting MR in the construction industry. The study reviewed relevant literature to determine key limitations and drivers. A survey questionnaire was then distributed to construction professionals in a developing country, and responses were recorded. Based on the RII values, the drivers and barriers were ranked.

The findings indicated that high capital costs, perceptions of MR being an immature technology, insufficient demand, lack of experts, and users' health concerns are the primary limitations to adopting MR in developing countries' construction industry. To overcome these limitations, R&D efforts should be focused on reducing the cost of devices. Additionally, advertising campaigns can promote the advantages of MR projects, and professional training programs can create employment opportunities related to these technologies.

The primary drivers in the adoption of MR were the improvement in understanding of projects, reduction in overall project spending, effective training, reduction in damage and development costs related to the project, and improved user experience. These results can be used to facilitate the adoption of MRTs in the construction industry of developing countries by promoting the drivers and curbing the barriers to moving towards a more digital and automated global construction industry.

5.1. Implications

This study has the following implications:

- 1. Stakeholders should prioritize efforts to reduce the cost of MR devices. This can be achieved through funding R&D in various universities and similar institutions.
- 2. MR devices should be tailored to meet the demands of the construction industry, which requires devices that can handle complex data for an extended period. Existing

MR devices developed with a focus on developed countries may not be suitable for the construction industry of developing countries.

- 3. Advertisements should be launched to increase awareness of the advantages of MR in the construction industry.
- Acquiring expertise and knowledge of MRTs should be facilitated in developing countries by establishing higher education programs in this technology in major universities. Additionally, R&D efforts in this subject should be increased to attract young talent in this field.

5.2. Limitations and Future Studies

This study has limitations as it involved professionals from a developing country with limited exposure to modern technologies. As a result, the findings may not be generalizable to developed countries where technology adoption may be different. However, researchers from other countries can use this study to gain insight into primary barriers and drivers and validate their findings. In addition, the current study only discusses the top 5 drivers and barriers. However, future studies can focus on each of the reported barriers and drivers and develop holistic adoption frameworks. Moreover, this study can also be used to identify regional differences in MR technology adoption. In addition, this study only focused on VR and AR as MRTs; future works may consider other supporting technologies and expand the scope to extended reality (XR).

Further research is necessary to address the limitations identified in this study and to facilitate the drivers for the adoption of MR in the construction industry. Additionally, future research can be conducted in other countries to compare the results with this study and to identify any cross-country differences in adopting this technology.

Author Contributions: Conceptualization, A.M., M.Z., M.I. and F.U.; methodology, A.M., M.Z., M.I., F.U., F.K.A. and K.I.A.K.; software, A.M., M.Z. and M.I.; validation, A.M., M.Z., M.I. and F.U.; formal analysis, A.M., M.Z., M.I. and F.U.; investigation, A.M., M.Z., M.I. and F.U.; resources, F.U. and F.K.A.; data curation, A.M., M.Z., M.I., F.U., F.K.A. and K.I.A.K.; writing—original draft preparation, A.M., M.Z., M.I. and F.U.; writing—review and editing, F.U., A.M., F.K.A. and K.I.A.K.; visualization, A.M., M.Z., M.I. and F.U.; writing—review and editing, F.U., A.M., F.K.A. and K.I.A.K.; visualization, A.M., M.Z., M.I., F.U., F.K.A. and K.I.A.K.; usualization, A.M., M.Z., M.I., F.U., F.K.A. and K.I.A.K.; and K.I.A.K.; visualization, A.M., M.Z., M.I., F.U., F.K.A. and K.I.A.K.; and K.I.A.K.; visualization, A.M., M.Z., M.I., F.U., F.K.A. and K.I.A.K.; and K.I.A.K.; visualization, A.M., M.Z., M.I., F.U., F.K.A. and K.I.A.K.; and K.I.A.K.; visualization, A.M., M.Z., M.I., F.U., F.K.A. and K.I.A.K.; and F.U. and F.U.; more context and the state of the manuscript.

Funding: This research was funded by the Researchers Supporting Project number (RSP2023R264), King Saud University, Riyadh, Saudi Arabia.

Data Availability Statement: The data are available with the first author and can be shared upon reasonable request.

Acknowledgments: The authors extend their appreciation to the Researchers Supporting Project number (RSP2023R264), King Saud University, Riyadh, Saudi Arabia for funding this work.

Conflicts of Interest: The authors declare no conflict of interest.

References

- 1. Delgado, J.M.D.; Oyedele, L.; Beach, T.; Demian, P. Augmented and virtual reality in construction: Drivers and limitations for industry adoption. *J. Constr. Eng. Manag.* **2020**, *146*, 04020079. [CrossRef]
- Du, W.; Sepasgozar, S.M.; Romero, J.S.G. Measuring Virtual Reality (VR) Technology Application and Adoption in Chinese Construction Risk Management. *Environ. Sci. Proc.* 2022, 12, 18.
- 3. Rankohi, S.; Waugh, L. Review and analysis of augmented reality literature for construction industry. Vis. Eng. 2013, 1, 9. [CrossRef]
- 4. Albahbah, M.; Kıvrak, S.; Arslan, G. Application areas of augmented reality and virtual reality in construction project management: A scoping review. J. Constr. Eng. 2021, 14, 151–172. [CrossRef]
- 5. Lucas, J.; Gajjar, D. Influence of virtual reality on student learning in undergraduate construction education. *Int. J. Constr. Educ. Res.* **2022**, *18*, 374–387. [CrossRef]
- 6. Sepasgozar, S.M. Digital twin and web-based virtual gaming technologies for online education: A case of construction management and engineering. *Appl. Sci.* **2020**, *10*, 4678. [CrossRef]
- Pedram, S.; Perez, P.; Palmisano, S.; Farrelly, M. Evaluating 360-virtual reality for mining industry's safety training. In Proceedings of the International Conference on Human-Computer Interaction, Vancouver, BC, Canada, 9–14 July 2017; pp. 555–561.

- Cao, C.; Cerfolio, R.J. Virtual or augmented reality to enhance surgical education and surgical planning. *Thorac. Surg. Clin.* 2019, 29, 329–337. [CrossRef]
- Dascal, J.; Reid, M.; IsHak, W.W.; Spiegel, B.; Recacho, J.; Rosen, B.; Danovitch, I. Virtual reality and medical inpatients: A systematic review of randomized, controlled trials. *Innov. Clin. Neurosci.* 2017, 14, 14.
- Jeelani, I.; Han, K.; Albert, A. Development of immersive personalized training environment for construction workers. In Computing in Civil Engineering 2017; ASCE: New York, NY, USA, 2017; pp. 407–415.
- Nguyen, M.-T.; Nguyen, H.-K.; Vo-Lam, K.-D.; Nguyen, X.-G.; Tran, M.-T. Applying virtual reality in city planning. In Proceedings of the International Conference on Virtual, Augmented and Mixed Reality, Toronto, ON, Canada, 17–22 July 2016; pp. 724–735.
- Balali, V.; Noghabaei, M.; Heydarian, A.; Han, K. Improved stakeholder communication and visualizations: Real-time interaction and cost estimation within immersive virtual environments. In Proceedings of the Construction Research Congress 2018, New Orleans, LA, USA, 2–4 April 2018; pp. 522–530.
- 13. Williams, G.; Gheisari, M.; Chen, P.-J.; Irizarry, J. BIM2MAR: An efficient BIM translation to mobile augmented reality applications. *J. Manag. Eng.* **2015**, *31*, A4014009. [CrossRef]
- 14. Noghabaei, M.; Han, K. Hazard recognition in an immersive virtual environment: Framework for the simultaneous analysis of visual search and EEG patterns. *arXiv* 2020, arXiv:2003.09494.
- 15. Ullah, F.; Sepasgozar, S.; Tahmasebinia, F.; Sepasgozar, S.M.E.; Davis, S. Examining the impact of students' attendance, sketching, visualization, and tutors experience on students' performance: A case of building structures course in construction management. *Constr. Econ. Build.* **2020**, *20*, 78–102. [CrossRef]
- 16. Ullah, F.; Sepasgozar, S.M.; Khan, R.M.A.; Davis, S. Investigation of the empirical relation between student sketching, attendance and performance in construction education. In Proceedings of the 42nd AUBEA Conference, Singapore, 28 September 2018; pp. 38–47.
- Augmented Reality. Virtual Reality Market by Offering (Hardware & Software), Device Type (HMD, HUD, Handheld Device, Gesture Tracking), Application (Enterprise, Consumer, Commercial, Healthcare, Automotive), and Geography–Global Forecast to 2023 (2018). Markets and Markets. 2018. Available online: https://www.marketsandmarkets.com/Market-Reports/augmentedreality-virtual-reality-market-1185.html (accessed on 11 December 2022).
- Goldman, S. The Real Deal with Virtual and Augmented Reality. 2016. Available online: http://www.goldmansachs.com/ourthinking/pages/virtual-and-augmentedreality.html (accessed on 10 December 2022).
- 19. Ribeiro, A.I. Public health: Why study neighborhoods? Porto Biomed. J. 2018, 3, e16. [CrossRef] [PubMed]
- 20. Davila, M. Vision Network: Augmented Reality and Virtual Reality for Digital Built Britain-Final Report; Centre for Digital Built Britain: Cambridge, UK, 2019.
- 21. Cruz, T.V. Virtual Reality in the Architecture, Engineering and Construction Industry Proposal of an Interactive Collaboration Application. Ph.D. Thesis, Universidade do Porto, Porto, Portugal, 2018.
- DeFanti, T.A.; Dawe, G.; Sandin, D.J.; Schulze, J.P.; Otto, P.; Girado, J.; Kuester, F.; Smarr, L.; Rao, R. The StarCAVE, a thirdgeneration CAVE and virtual reality OptIPortal. *Future Gener. Comput. Syst.* 2009, 25, 169–178. [CrossRef]
- Hong, S.W.; Schaumann, D.; Kalay, Y.E. Human behavior simulation in architectural design projects: An observational study in an academic course. *Comput. Environ. Urban Syst.* 2016, 60, 1–11. [CrossRef]
- Kerawalla, L.; Luckin, R.; Seljeflot, S.; Woolard, A. "Making it real": Exploring the potential of augmented reality for teaching primary school science. *Virtual Real.* 2006, 10, 163–174. [CrossRef]
- Drascic, D.; Milgram, P. Perceptual issues in augmented reality. In Proceedings of the Stereoscopic Displays and Virtual Reality Systems III, San Jose, CA, USA, 28 January–2 February 1996; pp. 123–134.
- 26. Noghabaei, M.; Heydarian, A.; Balali, V.; Han, K. Trend analysis on adoption of virtual and augmented reality in the architecture, engineering, and construction industry. *Data* **2020**, *5*, 26. [CrossRef]
- 27. Jung, T.H.; tom Dieck, M.C. Augmented reality, virtual reality and 3D printing for the co-creation of value for the visitor experience at cultural heritage places. J. Place Manag. Dev. 2017, 10, 140–151. [CrossRef]
- Juan, Y.-K.; Chen, H.-H.; Chi, H.-Y. Developing and evaluating a virtual reality-based navigation system for pre-sale housing sales. *Appl. Sci.* 2018, 8, 952. [CrossRef]
- Hou, L.; Chi, H.-L.; Tarng, W.; Chai, J.; Panuwatwanich, K.; Wang, X. A framework of innovative learning for skill development in complex operational tasks. *Autom. Constr.* 2017, 83, 29–40. [CrossRef]
- Wang, X. Augmented reality in architecture and design: Potentials and challenges for application. *Int. J. Archit. Comput.* 2009, 7, 309–326. [CrossRef]
- 31. Chi, H.-L.; Kang, S.-C.; Wang, X. Research trends and opportunities of augmented reality applications in architecture, engineering, and construction. *Autom. Constr.* 2013, 33, 116–122. [CrossRef]
- 32. Wang, X.; Kim, M.J.; Love, P.E.; Kang, S.-C. Augmented Reality in built environment: Classification and implications for future research. *Autom. Constr.* **2013**, *32*, 1–13. [CrossRef]
- 33. Yin, J.-H.; Chng, C.-B.; Wong, P.-M.; Ho, N.; Chua, M.; Chui, C.-K. VR and AR in human performance research—An NUS experience. *Virtual Real. Intell. Hardw.* 2020, 2, 381–393. [CrossRef]
- 34. Eiris, R.; Gheisari, M.; Esmaeili, B. PARS: Using augmented 360-degree panoramas of reality for construction safety training. *Int. J. Environ. Res. Public Health* **2018**, *15*, 2452. [CrossRef] [PubMed]
- Fetters, M.D.; Curry, L.A.; Creswell, J.W. Achieving integration in mixed methods designs—Principles and practices. *Health Serv. Res.* 2013, 48, 2134–2156. [CrossRef] [PubMed]

- 36. Bouchlaghem, D.; Shang, H.; Whyte, J.; Ganah, A. Visualisation in architecture, engineering and construction (AEC). *Autom. Constr.* **2005**, *14*, 287–295. [CrossRef]
- Woksepp, S.; Olofsson, T. Credibility and applicability of virtual reality models in design and construction. *Adv. Eng. Inform.* 2008, 22, 520–528. [CrossRef]
- Liu, Y.; Lather, J.; Messner, J. Virtual reality to support the integrated design process: A retrofit case study. *Comput. Civ. Build. Eng.* 2014, 2014, 801–808.
- Bille, R.; Smith, S.P.; Maund, K.; Brewer, G. Extending building information models into game engines. In Proceedings of the 2014 Conference on Interactive Entertainment, Newcastle, NSW, Australia, 2–3 December 2014; pp. 1–8.
- Du, J.; Zou, Z.; Shi, Y.; Zhao, D. Zero latency: Real-time synchronization of BIM data in virtual reality for collaborative decision-making. *Autom. Constr.* 2018, 85, 51–64. [CrossRef]
- 41. Dunston, P.S. Identification of application areas for Augmented Reality in industrial construction based on technology suitability. *Autom. Constr.* **2008**, *17*, 882–894.
- 42. Du, J.; Shi, Y.; Zou, Z.; Zhao, D. CoVR: Cloud-based multiuser virtual reality headset system for project communication of remote users. *J. Constr. Eng. Manag.* 2018, 144, 04017109. [CrossRef]
- 43. Biocca, F.; Levy, M.R. Communication in the Age of Virtual Reality; Routledge: London, UK, 2013.
- 44. Delgado, J.M.D.; Oyedele, L.; Ajayi, A.; Akanbi, L.; Akinade, O.; Bilal, M.; Owolabi, H. Robotics and automated systems in construction: Understanding industry-specific challenges for adoption. *J. Build. Eng.* **2019**, *26*, 100868. [CrossRef]
- 45. Martínez, H.; Skournetou, D.; Hyppölä, J.; Laukkanen, S.; Heikkilä, A. Drivers and bottlenecks in the adoption of augmented reality applications. *J. Multimed. Theory Appl.* **2014**, *2*, 27–44. [CrossRef]
- 46. Delgado, J.M.D.; Oyedele, L.; Demian, P.; Beach, T. A research agenda for augmented and virtual reality in architecture, engineering and construction. *Adv. Eng. Inform.* **2020**, *45*, 101122. [CrossRef]
- 47. Wang, X.; Dunston, P.S. Design, strategies, and issues towards an augmented reality-based construction training platform. *J. Inf. Technol. Constr. ITcon* **2007**, *12*, 363–380.
- Liagkou, V.; Salmas, D.; Stylios, C. Realizing virtual reality learning environment for industry 4.0. Procedia Cirp 2019, 79, 712–717. [CrossRef]
- Matsika, C.; Zhou, M. Factors affecting the adoption and use of AVR technology in higher and tertiary education. *Technol. Soc.* 2021, 67, 101694. [CrossRef]
- 50. Johnson, J.W.; LeBreton, J.M. History and use of relative importance indices in organizational research. *Organ. Res. Methods* **2004**, 7, 238–257. [CrossRef]
- 51. Liagkou, V.; Stylios, C.; Pappa, L.; Petunin, A.J.E. Challenges and opportunities in industry 4.0 for mechatronics, artificial intelligence and cybernetics. *Electronics* **2021**, *10*, 2001. [CrossRef]
- Ashtari, N.; Bunt, A.; McGrenere, J.; Nebeling, M.; Chilana, P.K. Creating augmented and virtual reality applications: Current practices, challenges, and opportunities. In Proceedings of the 2020 CHI Conference on Human Factors in Computing Systems, Honolulu, HI, USA, 25–30 April 2020; pp. 1–13.
- Yin, K.; He, Z.; Xiong, J.; Zou, J.; Li, K.; Wu, S.-T.J.J.o.P.P. Virtual reality and augmented reality displays: Advances and future perspectives. J. Phys. Photonics 2021, 3, 022010. [CrossRef]

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.